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11.

INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully, mentioned or: the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should compulsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
to pages/ questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only one
correct/most appropriate answer, out of four options given

and darken the circle provided against that option in the’

OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only.

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ ’ @ @ If (B) is correct answer.

There are 75 objective type questions in this Booklet. All
questions are compulsory and carry 2 marks each.

Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answers.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
-considered as standard.
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PSYCHOLOGY - III

HRfaRE - 11
1.  Which system has an important role in 1. sl B w9 o7 H fohE ol He
the origin of Emotions ? s3fereT Bt & 2
(A) Sympathetic nervous system (A) wEPYlaH GlECaIGE|
(B) Parasympathetic nervous system (B) TUTEhI difreht o
(C) Somatic nervous system (@) ek ECaIGE|
(D) Central nervous system (D) EJ4R G IECIIGE]
2.  Which are the three experimental 2. 3 B Q F7 Wi afward € fen sw

procedure used for collecting data within
Signal Detection Theory ? Choose the
correct code.

(a) Ranking Procedure

(b) YES/NO Procedure

(c) Forced-choice Procedure
(d) Rating Scale Procedure
Codes :

(A) @ (@© (@

B) (@ (@ ®

© @ @®

(D) (@ ) ()

T¥q EieF fagia % offa dqish T
foru feman ST €7 W& e 1 g
() X fatu

) =/ fafa

() dfaa-=== fafa

() Y wna fafy

e

(A) (@ @@ @

B (@ @@ @

€ (@ & @

® (@ ® @
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7210/TFU-PSY/GLE-III



Read each of the following two statement
Assertion (A) and Reasoning (R) and
indicate your answer using the codes

given below :
Assertion (A) :

Perception yields false interpretation of
physical reality in which illusions are

instances.
Reason (R) :

Misapplied Consistency Theory suggests
that when looking at illusions, we
interpret certain cues that certain parts
are farther than others because of our
powerful tendency toward size

constancy.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

Choose the correct sequence code of
Signal Detection as given below :

(A) Stimulus-ENS-EN-SD
(B) SD-ESN-Stimulus-EN
(C) Stimulus-EN-ESN-SD
(D) Stimulus-SD-EN-ESN

AR AT (A) T HTIOT (R) ¥ iR QA1
FHAI I UfeT 3R 7 T2 & ST § o799
W &l TR Fifse

AR (A) ¢

Jaul 39 Hifaes arcfaerdl sl Told sare
Fa & o8 ym, gRm % w9 § sufem
wWATI

&HNT (R) :

Haraar g 1 T ST e € 5
IR T R EA FD fyaa dha &t =
W § 98 AMq gC T a7 Fiftea ymgwdi @
fysh gt W T TR TN T yaf aEst
feeran #1 3R Bt 7

E TR
(A) (A) T (R) 3F1 ¥ € 3R (R), (A)
I UE AT R |

(B) (A) Wl (R) T & € W (R), (A)
%1 TE S T g |

(C) (A)Hdl, 9] (R) T €|
(D) (A) Ie@, T (R) & ¥

Foerifor Wehd BT ¥ TR ST 1 9T

(A) IETI-ENS-EN-SD
(B) SD-ESN-3&Y3-EN
(C) IEI-EN-ESN-SD
(D) SE9A-SD-EN-ESN

SPACE FOR ROUGH WORK / T% &Td & fod Siig
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Information processing approach to
perception. Choose the correct code.

(@) Sensory
(b) Input

(€ LIM

(d) Working memory
Codes :

(A @ @ (© O
B O @ © @
© @ © O® @
O ® @ @ ©

A familiar study on perception has shown
that the poor childrens overestimated the
size of coins to a greater degree than
wealthy childrens. By whom the study
was conducted ?

(A) Osgood
(B) McClelland and Murry
(C) Peterson and Peterson

(D) Bruner and Goodman

5.

W B gE WA SUrE & T a@|
% A e

(a) gag
(b) AT
() wdAw

(d) =R wfa

A) (@ @ © ®
® O @ © @
© @ © & @

@) b @ @ ©

TeIEIUT TR Tk SR eI U ¢ o T
T 4 ol a=dl Wi oThen faeenl W 9@EA
o1 oga 31fee Hodieh 5T | gHeRt ST
foram fean?

o

(A) sgge
(B) Hacis T W
€) foreds oo fuedn

(D) TR TS
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Identify the monocular cues for depth 7. &I YA o fAC AHIpeR Hohd @t TeaH

perception. i |

(a) Size Constancy (a) wEs feera
(b) Interposition (b) SHafeafa

(c) Gradient of Texture (c) H&E @ Ufed=
(d) Linear Perspective (d) Yew ufde
Codes : %

(A) (@, (@) and (o) (A) (@) (d) 3 (o)
(B) (b), (d) and (c) B (®), (d) 3 (o)
© (), () and (d) © (b), (0 3 (d)
(D) (@), (b) and (d) (D) (a), (b) 3R (d)

Which are the factors conducive to 8. sfer & few FA-HHE W FEH SRET) B

learning ? g2

(a) Intelligence (a) Hfgm

(b) Motivation (b) ST

(c) Good physical health (c) oT=s1 Wik e
(d) Distracting condition (d) Torecrta ofifeafa
Codes : F

(A) (a), (d) and (b) (A) (), (d) 3 (b)
(B) (a), (b) and (c) (B) (), () (o)
(©) () (a) and (d) © (© (a) 3R ()
(D) (b), (¢) and (d) (D) (b), (0) ¥ (q)

SPACE FOR ROUGH WORK / 1@ &/ & fad g
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Read the statements given below
carefully. One of the statement is
assertion and the other is reason.
Answer on the basis of codes given.

Assertion (A) :

A process complementary to generalization

is discrimination.

Reason (R) :

Whereas generalization is reaction to
similarities, discrimination is reaction to

differences.

Codes :

(A) Both (A) and (R) are correct but (R)
is not the correct explanation to (A).

(B) (A) is correct but (R) is false..

(C) Both (A) and (R) are correct and (R)
is the correct explanation to (A).

(D) (A) is false but (R) is correct.

1 ol ®1 eAyE® ufeul H U
iR iR O SRUT § | AU T F2
ITER SW Y|

AUFRAT (A) :

TS R Y FiRar fasg & 2t 1

0T (R) :

Safeh TR THEdl @ gfafwar § iR
fa9e sfax =1 ufafewrar 71

e

(A) (A) T (R) T Wel § T (R), (A)F!
e = el

(B) (A) ¥ ¥, T (R) T B

(C) (A)TeN (R) T Wel § 3T (R), (A) I
& AR B

(D) (A) 7o & TG (R) WEl B |
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106. Match List-I with List-II :

List - I
Type of learning
(a) Classical
conditioning

(b) Association
conditioning

(c) Instrumental
conditioning

(d) Avoidance
conditioning

Codes :

@@ (b)
(A) (D) (i)
(B) @ @
(©) () (i)

(D) (1) (i)

List - II
Explanation

(i) Building of memory
thoughts and their
related behaviour

(ii) Natural inherent
ability to elicit
particular response

(iii) Combines elements
from Respondent
and classical
conditioning

(iv) Relationship
between
reinforcement and
behaviour

(© (d

@ @)

(iv) (i)

O @

(i) ()

10. gEit-1 1 G-I 9 firemy

qEt - 1 gz - 11
ST & Uehr ST
(a) senfaera () wgfs wd foemi
TR Heiferd STER Al
(b) greerd oo (1) ferdve wfafeman v
A wwfas sriafiw
FrEal
() wmerew (sgiem) (i) senfsrer srqger
SR EIE] & SiaRhaERe! &
Tl oh! AT HEAT
(d) wame srger (V) gsier ue sraer &
e gay
6T

@ () () (@

() @) @ @O @)

B @ @ @) @
© @) @) @& @)
@) O @ @@ )
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{. Match List - I with List - II :

List-1
2) Subliminal (i)

perception

b) Differential (ii)
Threshold

c) Signal

Detection

d) Just

Noticeable

difference

Codes :

(i)

()

(iv)

List-1II
The amount by which
two stimulus must

differ in order to be just

noticeably different

Detection of stimuli
depend on their
physical energy and
internal factor

Smallest amount of
change in physical
stimulus necessary for
individual to notice

Ability to perceive a
stimulus that is below
the threshold for
conscious experience

(iv) @
(i) (i)

11. et - IH e - 1§ femne

-{:ﬁﬁ-_

(@) 3=a

CEULSED)

Ja&l

(b) faurs

(femifere)

HrHia

() wFa

I

(d) yea 9%

@

@

g - 11
o a TR ] 3l
1 IEYIS €9 4§
A B Aok greeTd ®9
{9 3 fo= wedta &
IEYA 1 a1 Sk Aifds
TSl TE S oMk W
fasf e ¥

(i) ffew FW F fa
(farmer) @t 3TERTe, Wifde SEuA A

ufiadq =t Teqay HEAl

(iv) -3y & fag

(b)
)
(i
()

(iv)

e ¥ T SE
=1 uftfa T T A

(€ (d
(i) (@
(i @

(i)

SPACE FOR ROUGH WORK / % &Td & fod s
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12.

13.

(@)
(b)

(d)

Arrange the following in correct sequence
for behaviour modification. Choose the
correct code.

(@) Measurement of behaviour
(b) Functional Analysis of behaviour
(c) Identification of critical behaviour

(d) Development of Intervention
strategy

(e) Evaluation to ensure performance
Codes :

@ 0 @ © @ (@

B @ © @ @© O

© © @ B @ @

G ® @ @ @ (©

Match List - I with List - IT ;

List-I - List-1I
(Schedule) (Reinforcement)
Fixed Ratio (i) Quasi-Random
Extinction (i) Standard usage

Variable ratio  (iii) Time contingent

Fixed interval (iv) No response are

reinforced
Codes :
@@ () (g (d
(A) (@) (v) (@) @)
(B) (@) (v) ) (i)
© @ (Gv) (@) (@)
(D) @(v) @) (@@ @

12. SHeRR HifSithere % fau fr = ud srm
H afiyd FITT | TE F2 H T9 HIfST

(a) SHARR 1AM

(b) SHATR HT YHMICHSE foageATor
(c) Trofaes sgeRR &t v=m
(d) TEIY ifa = faem

(e) Troaes faftaa w7 & fag qeaisa

%< :

(A) (b)
(B) (9
©) (©
(D) (b)

(©)
(a)
()
(d)

€ (a)
(€ (b
(d (o)
€ (9

13. g - [ g - 11 9 fiensg

g - 1
(geit)
(2) fer s ()
(b) i (i)
(c) REdH STIE (iid)
(d) feer AeAiR (iv)
e
(a) (c)
(A) (i) (i)
(B) (i) (1)
© O (1)
(D) () (i)

el - 11
(gEer )
a1 -argfess
S SR
Tqg g

g ot wlafsran
Yafera &l

@
0
(i)

(i)

@

SPACE FOR ROUGH WORK / & &Td & fol sg
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14.

15.

16.

In Atkinson-Shiffrin model which one of 14.

the following is distinct memory system ?
(A) Sensory memory

(B) Flashbulb memory

(C) Testimonial memory

(D) Biochemical memory

Which one of the following does not come 15.

under classification of memory

information ?

(A) Semantic memory
(B) Episodic memory
(C) Procedural memory

(D) Perspective memory

Which of the following item-information 16.

does not belong to “LTM” ?

(A) You; friend’s birthday

(B) 4+5=9

(C) Telephone number heard first time

(D) Date of Independence Day

- R T H fre 8 4 S
wf g faftre 2

(A) Heodt wfa
(B) whiuwsHRl Hfd
(C) &S Hfd

(D) i WA Hfd

ﬁmﬁ@aﬁ'—r@wﬁrwaﬂﬁwwéa
et T 3T § 2

(A) srefma wfa

(B) iR S

(C) wwifafy T

(D) g wfa

g 8§ § H-9 whe-gE T de,
Y grsifed T8 82

(A)  3Taew it w1 wfe
(B) 4+5=9
(C) ™ IR G g QLA R

(D) T fod = fafy

SPACE FOR ROUGH WORK / {% &t & for& s7g
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17.

18.

19.

20.

Which one of the following is true about ~ 17.

Flashbulb memory ?

(A)

(B)

(©)
(D)

Which cortical lobe is crucial in the 18.

Flashbulb memory is non-intriguing
aspect of autobiographical memory.

Flashbulb memory is formed when
no emotions are present.

Flashbulb memory is less accurate.

Flashbulb memory is accurate.

consolidation of memory ?

(A)
(B)

©
(D)

Which one of the following stages does 19.

Frontal lobe
Occipital lobe
Temporal lobe

Parietal lobe

not occur in creative thinking ?

(A)
(B)
©
(D)

Which one of the following isnota variety ~ 20.

Preparation
Incubation
Consolidation

Verification

of realistic thinking ?

(A)
(B)
(©
(D)

Convergent thinking
Creative thinking
Evaluative thinking
Autistic thinking

HUYRN Ha F IR F 79 § § 39 w
qaT?

(A)

(B) TS Ho Iufeerd &l BN T hieryenTs)
wfe 1 Frafor 2 ¥

(C) HiuwehTS Tt 1 3T Bl & |

(D) HIUYRN Ff ST Bt &

Hfa & gfeswo (Consolidation) H #f&ss
T SHITH GUE TEequl 2l & 2

(A) U gTe

(B) TS wre

(C) 3@ wvs

(D) T G

7= 1 @ - o gorers fea & @
A T?

(A) 7H T

(B) 3]¥aA

©) TEw

(D) wHTUfteRTor

= 4 9 ®F-w TR geredar foa & e
??

(A) SAiER o

(B) YeMTHS feiaq

(C) 3MeirAeH® fea

(D) @i fHa

SPACE FOR ROUGH WORK / % &1 & for&r srrg
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21.

22.

23.

24.

“Linguistic determination” is popularly 21.

known as what of the following ?

(A)
(B)
©
(D)

Out of the following which one is not the 22.

Trial and error hypothesis
Whorf hypothesis
Goal-Directed hypothesis
Logical conceptual hypothesis

strategy of problem-solving ?

(A)
(B)
©)
(D)

Which one of the following disturbed the ~ 23.

Random search strategy
Heuristic search strategy
Planning strategy

Functional fixation strategy

sequential steps involved in decision-

making process ?

(A)
(B)
©
(D)

In which category psychoanalytic theory 24.

Collection of data
Drawing inference
Decision - making

To do experiment according to

inference

of motivation belongs ?

(A)

(B)

©
(D)

Drive theory

Incentive theory
Opponent process theory
Optimal-level theory

“ o Frafrer’! et | R W @ 9fEs
87

(A) TS QT & TrRRTI

(B) 3Tt Terheq

(©) ea-FRR e

(D) e Sl SraheTl

Fre A A PH- T g e ety
Te?

(A) agfes® sFaun gfaf

(B) T Ty Faww Wiy

(C) dror wfafy

(D) Sl e gfafH

£ § Q forg T 3 Froflg-+ Y wiwa §
e <ol 1 A H Gied fF 7?2

(A) SRSl H TR

(B) STTAH W IgE

() fwia wem

(D) STIAM % SFTTH AT FHTH

Fron 1 AT fagia feee Soft # e
7?7

(A) e s

(B) T=d Tagia

(C) sifdr= Wraw fasia

(D) si<ma-ee sl

SPACE FOR ROUGH WORK / & &td @ ol wtg
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25.

26.

According to emerging synthesis of
theories on emotions :

(a) Some emotions are experienced
independently of cognitive
interpretations, whereas others
depend on it.

(b) All emotions can be interpreted by
brain activity.
(c) Emotions and bodily state of arousal

are same.

(d) Emotions are independent of
cognitions.

Codes :

(A)  (a) only
(B) (b} and (c)
(€) (d) only
(D) (a) and (d)

What social factors facilitate aggression ?

(a) Some forms of frustration

(b)  Direct provocation from others
(¢) Crowding

(d) Irritating Noise

Codes :

(A) () only

(B) (b) only

(C) (a) and (b) only

(D) (9) and (d) only

25. el W fagid & SW wEeH %
SFER
(a) EIFRETS ARSISH il FB WEAE W&
TG Y YU I A § STeIfE TE T
et Ea €

(b) WAl wrEATS ®Y =|EA 99 *HY
ToRATShATT | T T Tehell B |

(c) S 1 NI sTeen SR AT
HHH At 7

(d) T T @ e g 2

E &R

(A) Fod (a)
(B) (b) 3R (o)
(©) e (d)
(D) (a) 3 (d)

26. SHITE! WIS HH STsHHenT 1 IR Hdr
7?2
(a) Towerr &1 &9
(b) THU SN YA 9 W SHART I
(c) g g
(d) & HA e IR
e
(A) ¥ (a)
(B) I (b)
(C) oI (a) 3R (b)
(D) e (c) 3R (d)

SPACE FOR ROUGH WORK / 1% &1d & o sie
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27.

Given below are two statements
Assertion (A) and Reason (R). Indicate

your answer using the code given :

Assertion (A) :

Intrinsic motivation is feeling competent

in dealing with the environment.

Reason (R) :

Intrinsic motivation drives from feelings
of satisfaction.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

27.

A3 <) T ARHAT (A) 3R HRT (R)
fer T ¥ WEW FE o SWAN H I SW
% ST :

ARHAT (A) :

yfEw F WY FEeR § Avg AgHd HT
Fiafiar Yo B

T (R) :

yiafier SRon A ¥ oTvE 9 IfE Bl B

(A) (A) R (R) A & € SR (R), (A)
H T& e g

®) (A) 3 (R) T & € T (R), (A)
1 g e R e

©) (A) T ¥ T (R) T €

(D) (A) e € T (R) TR R

SPACE FOR ROUGH WORK / T &t & o rtg
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28.

Read each of the following two
statements Assertion (A) and Reason (R)
and indicate your answer using the codes
given below :

Assertion (A) :

Stress is not always harmful. It is
recognized that low levels of stress can
help for better performance.

Reason (R) :

Student can prepare well for examination,
if she/he has some stress.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

28.

< el STIHYT (A) T THIT (R) i T

3R 319 W I 77 2 % 393 & <ut

AR (A) :

TS THEN SRR &l 8T | 3% O TR
fr 1 TR F T 985 vevH ¥ Tm
AR

<h 0T (R) :

If faenfoel § orer @@ & 9 & Than
T TSt WE W W HE T

C &3

(A) (A) 3R (R) 1 w2 € 3R (R), (A)
TE R |

(B) (A) ¥R (R) I W& € W (R), (.
i Tl == T R

(C) (A) ¥ T W (R) o B

(D) (A) 7IeW & T (R) U& )
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. 29.

()

(b)

©)

(d)

Match List-I1 with List-II and indicate
your response by selecting the correct

codes given below :

List-I

Impression
Management

Hypermnesia

Impression

Formation

Hypomania

Codes :

@ ®)
(A) (i) (i)
(B) (@) (i)
©) (@) (@)

O @) @

(iv)

List-11

A mood state

Memory that
improves
overtime

Efforts to
control how

others view

Developing
initial view of
others

(d)

@

(iv)

(iv)

(i)

()

(b)

(©)

(d)

. g1 W geR-11 ¥ e o A S

F Fr g2 % ST @ A :

g1 -1

B FaHT G e wRefa

TR () oS AT T
H gYrR o ©

g FHiu (i) T fFE TER
HECRRIERENED
ERIE

RERIEIER (v) T % IRfH
forer =1 faenfaa
FET

e

@ ® © (@

(A) @) @ @Gv) @

B) (@) @) O )

© @) @ O )

(D) @(v) @ (@) (@)

7210/TFU-PSY/GLE-IIL
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30.

codes given below :

List-1

{Social/Cultural motives)

(@)

Abasement

(b)
Acculturati

(©)

(d) Empathy

Ethnocentrism

on

(@)

(i)

(iv)

(i)
(iv)

Match List-I with List-II and indicate
your responses by selecting the correct

List-II
(Nature)

unfavourable

comparison

own ethnic
group superior to
other

The ability
to feel other’s
experiences

Adapting
to ways of
life of new
culture

30. gE-1 = Gei-11 ¥ ooy oik o =<
=1 1 %2 & Swim 9 gurfsuy

TeA-11

Y TSI T
I T IS

SOl & STvEl W
Siceiciiien|

() 3HU F depfa

TS Hepfa o S9 &1
AU DI ST

(d) =g (iv)

@@ (b

A) @) @)

B) () (i

© @ ()

D) @ @ @v)

SPACE FOR ROUGH WORK / T% T & ford wme
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31.

32.

According to Drive Theory, restoration of
homeostasis follows the sequence :
(A) Need - Drive - Goal directed

behaviour - Attainment of the goal

- Reduction in driving state -
Termination of motivational
behaviour

Drive - need - Goal directed
behaviour - Attainment of goal -
Reduction in driving state -
Termination of motivational
behaviour

(C) Goal - Drive - need - Attainment of
goal - goal directed behaviour -
Reduction in driving state -
Termination of motivational
behaviour

Need - Goal directed behaviour -
Drive - Attainment of Goal -

(D)

Reduction in driving state -
Termination of motivational

behaviour

According to Schacter and Singer’s
Cognitive Theory of emotions, emotional
experience follow the sequence :

(A) Emotional event - Physiological
changes aroused - Cognitions

(B) Physiological changes aroused -
Cognitions - Emotional everit

(C) Cognitions - Physiological changes
aroused - Emotional event

(D) Physiological changes aroused -

Emotional event - Cognitions

31.

32.

o1 fagia 3 gaters St o T

TG STTFW I ST FE :

(A)  STrreEeRaT - RO - e fdfema S
_ oe % it - Feor eveeen H -
YUTehREeh S8R Rl HHITT

07 — STETIERT — e TR STesR
_ ey ] Tift - or araeen ¥ wH -
YU SHERR k1 THIIA

(B)

(©) & — YO — STETIHRAN - AeH
wiftd - w1 PR SFeRr - ST STae
T HHt — ORI SHERR T HH

(D) AT — e TS =eRr - W0
_ o1& 1 i - R STeee | i -
LIRS SHEER 1 FHIT

S 3R R 3 sTrarTe 3 T g

¥ IR e S T SAEE

STTERT AT B

(A) sTaTe S - 2fee wie s
- "™

(B) &fien afteri H SN - HH - S
Tl

(C) T - Sfeseh e H ST — e
Al

(D) 2feh afed H TS - W S
SRELE

SPACE FOR ROUGH WORK / T& e & fordl g
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33.

34.

Assertion (A) :

Sternberg’s theory of intelligence is called

triarchic theory of intelligence.

Reason (R) :

Human behaviour is determined by

multiple factors.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R). Indicate your

answer using the codes given below :

Assertion (A) :

According to Flynn, Performance on IQ

tests has substantially increased around

the world at all age levels.

Reason (R) :

Performance on IQ tests depends on the

interaction between genetics and

environment.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

33.

34.

IR (A) :

g =t wert w1 fagia sigwa =1

it fagia weam &1

T (R) :

e SRR 1 i wE s 9 fF

SR

%<

(A) (A) T (R) €T &3 § 3R (R), (A)
i WK ST B

(B) (A) W (R) I 5 € iR (R), (A)
T = T8

(©) (A) ¥ T W (R) 7o ¥

(D) (A) TR ¥ g (R) TE 1

AR (A) 7o WROT (R) D 2 T U
g1 9 W ® T4 %2 & 39 @ quiE

e (A)

FA o STTER IQ Ther | fysures guft
g o % forg Q fava & =k d) W s
7l

HIOT (R) :

IQ et W foares enaiferen 3iit vafarw
o7&y Fid:foRar W el e €1

e .

(A) (A) 7€ (R) 91 &= § =R (R), (A)
St Tl AR |

(B) (A) T (R) I e ¥ A (R), (A)
T TE =R T R

(©) (A) ¥ T R (R) T & |

(D) (A) e & T (R) T R |
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35. Assertion (A) : 35.

A 40 years old man may have the same
IQ as that of a 20 years old

Reasoning (R) :

The 40 years old man could have been
somewhat retarded to start with

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

AR (A) :

W 40 auta SAfw H, 20 aSTa =fad &
1Q & Tha T |

IO (R) :

40 S¥ta =afF TEE He TG § Y
kUil

(A) (A) T (R) 3 & € 3R (F
FI GE AT R

(B) (A) Tl (R) <l &A TR
] TE = T

(Q) (A) T & W (R) T €|

(D) (A) TTEE ¥ /g (R) TR R

SPACE FOR ROUGH WORK / T & & fa s
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36.

(@)

(b)

(©)

Match List-I with List-II and select the
correct answer using the codes given

below :
List-1

Linguistic (D
intelligence

Musical (ii)
intelligence

Mathematical (iii)
intelligence

Kinesthetic  (iv)
intelligence

Codes :

@ (b) (o)
(iif)  (iv)

(Aa) O @

(B) @) (v) ()
©) Gv) (i) ()
(D) @) @ @

List-11I
Use of body parts
to solve problems
including control
over motor actions

Engage in abstract
thought, that is,
use of appropriate
relationships in
absence of action
or objects
Capacity related to
phonology, syntax,
semantics and

pragmatics

Ability to create,
communicate and
understand
meanings from
pitch, rhythm and
timber qualities of
sound

(d)

@
@)
(iv)

3777 IW hI VT

qEli- 1

@) swh gfgm @)

(b) witcfvr g (i)

(©) fvrdr gfgen (i)

(d) e (iv)

e
@@ (b) (9

36. EA-I 6 Fel-11 9 foame) e g2 @

-1
AL e o i
Hishaar  frEo &
-1 IR oA
T 3TN
3 foani § =g
BT 31l foman ST
T o STufefa o
3 HeiEl &1 U

RS,
FeAfaam, Adfagm
iR FremitEa a
Heif¥rd eprar

T TA, 9R w3
3R firg, e qen
eaf o HISH oI
% 319 ] GHIA HI
T

(d)

(4) @ @ (@) @)

(B) (i) (iv) (i)
(©) @v) () ()
(D) @) @ @

@)
)
(iv)
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37.

(a)

(b)

(©)

(d)

Match List-I with List-II and select the

correct answer using the codes given

below :

List-I List-II
Emotional (i) David Wechsler
intelligence
Triarchic: (ii) Howard Gardner "
intelligence

Eight types of  (iii) Robert Sternberg
intelligence ' '

Multiple (iv) Daniel Goleman
intelligence

Codes :

@ () © (@

@A) @) @) @0

® @ @) @ 0
© @v) (@) @ @@

D) @ @) @) @)

37.

@)

®)

(©)

@

ﬁﬁ—i#ﬁﬁéllﬁwwmmﬁ
¥F S ¥ O S| I '

-1 g

AT S GH Qi Sfas am

T g i) o T

g F oS YER (i) Ve TAT

i g (iv) Sfre
s

@ ® © @
@ @ @ @ 0
® @ @) @ 0O
© @) @ O @

(D) () @ @) )
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38.

39.

Match the items of List-I and List-II and 38.

select the correct answer from the
answers given below :

List-I List-II
(a) Cattell (i) Assortative
mating
(b) Jenson (i) Investment
Hypothesis
(c) Sternberg (i) Wisdom
(d) Spearman (iv) Positive manifold

Codes :

@ (b)) () (d
(A) @ @ @) (@)
(B) @) Gv) @ @
(©) () (@) @(@H) @
O) @ @ @G (@)

Which of the following are elements in  39.

Carl Roser’s person centered theory of
personality and psychotherapy ?

(a) Ideal self

(b) Congruence
(c) Positive regard
(d) Dissonance

Codes :

(&) (@), (b) and (0)
®) (), (d) and (3)
(©) () (@ and ()
(D) (@), (b) and(d)

eil-1 1 w1 get-11 § firemsy ok fan

T 2 o ST § FE W ge
-1 -11

(a) Fed () i Afdw

(b) S @) ot wfeean

© ®fert (@) sfgEa

(d) TR (iv) TN fafay

e

@ () (o (d
(A) @ @ @) @)
(B) @) Gv) () (@)
© (@) @@ @@ @
D) @ @ @@ ()

frefafen 7 &9 w1 9@ safsa @it
HAfafhean & el o =afw wied fagid
AgSR?

(A) (@) (b) &R (c)
(B) (o), (d) ¥R (a)
© (), (d) ¥R ()
(D) (a), (b) ¥R (d)
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40.

41.

Personality assessments in forensic
settings use the following psychometric
and behavioural measures :

Galvanic Skin Resistance (GSR)
Millon Clinical Multiaxial Inventory
(MCMI)

Continuous Performance Test
(CPT)

Sixteen Personality- Factors Test
(16 PFT)

Codes :

(A) (a) and (b) only
() () and (d) only
(©) (), (b) and (¢)
(D) (b), () and (d)

Match List-I with List-II and indicate
your answer using codes given below :

List-I List-1I

Behaviourists (i)  Self concepts

Psychodynamic (i) Habits

Biological (i) Childhood
fixations

Humanistic (iv) Inheritance of
genes

Codes :

@ 6 © @

@) O @ @ @

® @) @ @ 0

© @ @) @) 0

O) @) @ ) 0

40.

41.

(a) @

PR safaa Tfay § Al qedih
¥ foru Frefafad wffa iR =raeie weHi
T STANT forar S ¥

(@) Teafe = gy
(b) faferam aelifrere Afceuferaaa somed

Had e aleto

HreTe TEATee et Tl

(2) 3R (b) Fohs
(c) ¥R (d) Fos
(a), (b) ¥R ()
(b), (0) ¥R (d)

Feit-1 1 gEr-11 & foems it oo SW
=1 et e § IS
qEt-1

REiCIH] (i)

BRI (i)
Sifeh (ii)

11

3 Yool
3ed

SR feery
BIECCIE (iv) SiF ! e wif
e

(@ (b)
(i)
(i)
(i)
(i)

(€ (d)
(iif)  (iv)
@i @
() @
) @

(B)
©
(D)

(™
)
(i

SPACE FOR ROUGH WORK / T% &Td & fad <mg
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42.

43.

(@)

(©)

(d)

Assertion (A) :

42.

Péople go out of their way to maintain

self esteem and to sustain the integrity of

their self concept.
Reason (R) :

Self-handicapping is a delibereite‘attempt

to sabotage one’s performance so as to

have a readymade excuse for failure. |

Codes : _

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A)is true but (R) is false.

(D) (R) is true, but (A) is false.
Match List-I with List-II :

List-I List-II
Accepting (i)  Self concept
other persons
Emotionally (i) Defense-
laden ideas mechanisms
Protective (iii) Unconditional
method positive regard
Overall (iv) Archetypes
perception of
personality
Codes :

@ ® 9 @
(4) @ @ @@ )
®) @) () @ @
© @ @ @G @
O) @) @ () (@)

43.

(@)
(b)
(©)

(d)

afieme (A) :
SR 379 ST WM I SF1E W e o7

3T TR R T ¥ e e T

Asm
HWOT (R) :
- 37YTar 319 frsare o Rt M i ST

SRR H ST STl Teh IS & i ST

1 SN U W A HEl S TeF |

%e:
(A) (A) T (R) 31 TE § 3R (R), (A)*
Tl IR B

(A) T (R) S ot § W (R), (£
! U e T R

(A) 9T ® T (R) TTeTd &1

(R) ¥ § W (A) T R

(B)

©)
(D)

-1 ! ge-11 § ey
i

geit-11

3TCH STTERON
e fafy

9 THRETE
TqHH
SRYEY

®)
@ 0
(i) ()
0 @)
) @)

(d)
(iv)
i @
(iv) (i)
(iif) (i)

(A)
(B)
©
(D)

SPACE FOR ROUGH WORK / &% &1d & o se
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4.

The following are the correct sequence of  44.

different forms of defence mechanisms in
terms of their increasing frequencies of use
is:

(A) Repression, Reaction Formation,
Regression,
Rationalisation, Displacement

Projection,

(B) Repression, Regression, Reaction
Formation, Rationalisation,

Projection, Displacement

C) Repression, Regression, Reaction
P g
Formation, - Projection,

Rationalisation, Displacement

(D) Repression, Regression, Projection,
Rationalisation, Reaction

Formation, Displacement

Randomised Block design uses : 45.

(a) Groups which are matched

(b) Not less than 10 in each block
() Random selection of the sample
Codes :

(A) (a) and ()

(B) (a) and (b)

(©) (a) only

(D) (b) and (q)

frefafaa guen fafwel & fafv= w4 =1
agdl SYENT I el STaURmST 1 ST
2| & Y AR

(A) Tud, gfafwan faafo, gfemm,

@) wud, wfamwa, gfafsan faio,
eI [ehehul, TEientul, Wireemda

) =ua, gfamea, wfafsan fmio,
WIS, AThifehentul, FicreemaH

(D) <A, TRTTHH, TR0, b1 [hehi,
yfafsran ffo, wiaeemds

st scifer Ied SUART I
() AT Wl 1

(b) TN Atw § 10 | HH T
(c) wfaest ®1 Agfessh WA

C T

(A) (@ ()

(B) (a) 3R (b)

(€ F (a)

(D) (b) 3 ()

SPACE FOR ROUGH WORK / 1% &t & o se
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46.

47.

Factor-analysis involves the use of :

(@)
(b)
(©)
(d)

Factorial Analysis of Variance
Intercorrelation Matrix
Independent Variables

Communality

Codes :

(4)
(B)
©)
(D)

(b) and (d)
(2) and (b)
(@) and (c)

(c) and (d)

Assertion (A) :

In factor-analysis oblique factor-rotation

is also used.

Reason (R) :

Psychological factors are seldom

completely uncorrelated.

Codes :

(A)

(B)
©)
(D)

Both (A) and (R) are true and (R) is
the true explanation.

Both (A) and (R) are true.
(A) is true but (R) is false.

(A) is false but (R) is true.

46.

47.

HROT FIveTur H SEhT STANT Bl ©
e fargersor foero

Y SR
ESCERCD

Ll HIRED]

(b) 3R (d)
(a) 3 (b)
©) (@) 3 (o)
(D) (c) 3 (d)
AT (A) :

R faveryor (e wfafas) o 3
HIU-SER0T ST o ITAT R S ¥

T (R):

TG ~ 0 YU STIeEa dd
vt 2 B 81

(A) T (R) < &t § 37R (R), (
e AT R |

(A) T (R) 3 9
(A) 9 ¥ 9g (R) TIe B
(A) TR B 9 (R) 6 T
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48.

(a)

(b)

(©)

(d)

49.

List-1

Quasi-
experimental

Correlational
Design

Multiple
Regression

Randomised
Block

Codes :

(@ (b)
(A @O @)
(B) @ @
© @ @)
(D) () (i)

Arrange the following in the order in
which they are used in the factor -

analysis :

(@) Principal Components Analysis

)

(i)

()

(iv)

List-1I

Bi-directional
effect

ANCOVA

ANOVA

Semi-Partial
correlation

@
i)
i)
@)
()

(b) Intercorrelation Matrix

(c) Factor loadings

(d)
Codes :

(A) (@ (b
B @® (@
© @@ @
®) ® (@

Eigen values

(d)
(d)
(b)
()

(©)
(©)
(c)
(d)

48.

(@)

(b)

(€)

(d)

49.

Y-y
HgHaY WY
UM IRHLE]

st sfh

@@ (b)
(a) @ @)
(B @ @
© o @
(D)

gEH-11
(@) Tefefw gum

() TEEART
(iif) T AT

(iv) aﬁ—aﬂﬁmm

(iv)

(a) TEA-FT fagewm
(b) SHa:TEH= T

(c) RO WR

A HH

@
%
a) (@ @®
B ® @
© @ @
D) ® (@

@ (©
@ ©
b (©
© @
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50. In a 2x3 ANOVA design arrange the 50. 2x3 T 99 H 1 @l TR g B

following in the order they should i A H afierd S
occur :
(a) Find out effect size (2) I9E HES 1 9dl
(b) Check for main - effect (b) & I9E &I W
(¢) Check for interaction effect () fa.ufafeman gum@ =1
(d) Do post-hoc (multiple (d) Ww-¥® (Fgrfoa gaan)
comparison) analysis [EESEL
Codes : TR
(4 © ® @ @ (4) © ® (@ (@
B b © @ (@ B ® (© @ (@
© ® © @ @ © ® @© @ @
O © b @ @ D) 9 & @ @
51. Match the following : 51. Trefafed s gafaa =i -
List-I List-1I -1 i1
(a) Randomised (i) Independent (a) Sfrafaa (i) T@EA =R
variables
(b) Repeated  (ii) More than 2 levels (b) gIET (i) 2§ e
(c) Factorial (i) Within subject (c) TUFA WIEY (i) TeroRIER
Design
(d) Post-hoc (iv) Between subject (d) dre-gw (iv) fawei & mex
Analysis fergera
Codes : %< :
@ @® (9 (@ @@ () (9 (d
@) @ @ 6 6 @) @ @ 0
B) Gv) @) G@ @ B) @) @ @@ @
© O @ @ G © O @ @
O @ @ @) @ - Oy O @) @) (@

SPACE FOR ROUGH WORK / % &1 & f&d wg

30 7210/TFU-PSY/GLE-III



52.

53.

Which are the sources of bias in testing ? 52.

(a) Gender-stereotype reflecting items
(b) Language

() Response system

(d) Rating scale

Codes :

(A) (a), (b) and (9)

(B) (a), (b) and (d)

(C) (b) and (c) only

(D) (a) and (b) only

Guttman’s scaling technique involves the ~ 53.

use of :

(a) Large number of items

(b) Rating of items

(c) Scalogram analysis

(d) Multi-dimensional scaling
Codes :

(A) (@), () and (©)

(B) (b) and (c) only

(©) (c) and (d) only

(D) (), () and (d)

e § v B FA-EA Y 2
(@) TeEm-grrew wfafest 7
(b) e

(c) Y@urH faweH

) Y wha

ETE

A) (@) (b) 3R ()

(B) (a), (b) 3 (d)

(C) e (b) 3 (o)

(D) e (a) ¥R (b)

el WhieH dehie THEs ST & fag
7?2

(@) W F T Hem
(b) I AT

(c) Thaum fageruor
(@) e forfta T
ETE

(A) (a), (b) 3 (c)

(B) e (b) 3R (o)
Q) e (c) 3 (d)
(D) (), (o) 3R (d)
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54.

55.

Assertion (A) :

Factor-analysis must be used for test -
development.

Reason (R) :
It is based on inter-correlation matrix.
Codes :

(A) Both (A) and (R) are true and (R) is
the reason.

(B) Both (A) and (R) are true but (R) is
not the reason.

(©) (A) is true, (R) is false.

(D) (A) is false, (R) is true.

Which of the following statements are
true of psychological scaling ?

(a) Find out which item is valid
(b) Find out which item is better

(c) Find out a number representing the
characteristic

(d) Measure attitude only
Codes :

(A) () and (b) only

(B) (), (b) and ()

(C) only ()

(D) (©and (d)

54.

55.

AR (A)

FHRU-fargeivu o S e o | B
i

T (R) ¢
Tg 3fq:mearey Hfza W | & )
%<

(A) (A) T (R) 391 ¥ T 3R (R), (A)
T & RO |

(B) (A) ¥ (R) A ¥ € W (R), (A)
1 T& HRol T T

() (A) ¥ T, (R) To@ 21

(D) (A) 7o %, (R) ¥ T

freafafiead § S99 @ TR0 ST 3
Hefdd e T © 2

(a) uﬁmsﬁam
(b) W 3EEH [MA HAT

() s yefia i A §en
HET

(d) waa figfa A

(A) e (a) 3R (b)

(B) (a), (b) 3 (0)
(C) o (c)
(D) (o) ¥R (d)
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56. List-I List-1I 56. -1 TqeR-11

(a) Scaling (i) Bias (a) THRfGT () U
(b) Testing (i) Factor (b) TEq (i) RO foweryor
analysis
(c) Ethical issues (iii) Attitude () HAfewge (i) ShER
(d) Standardization (iv) Ability (d) USRI (iv) A
Codes : e
@ ® () (@ (@ () (9 (d)
(A) @) @ @) @ (A) @) @ @) @
B) @(v) () G (@ (B) (@v) () @) (i)
© @) () @ @ © () @v) @ @
(D) @) @v) @) @) (D) @) Gv) @ @
57. List-I List-1I 57. -1 ge-11
(a) WAIS Score (i) Ordinal (@) W (WAIS) &R (i) FHYIH
(b) Rank position (i) Ratio (b) Y& A (i) U
(c) Male, Female, (i) Interval (c) e, Hfge, (i) A=A
Third Gender ey feim
(d) 1litreof milk (iv) Nominal (d) 1fax gy (iv) IfH®
Codes : %<
(@ () () (d @@ () (9 (9
(A) @) @ @) (@ (A) @) @ @) @
(B) (@) (@) @ @) (B) @) @ @ )
© @@ @ @ (@) © @ @ Gv) @)
(D) @) (@) @) @ (D) @) @) @) @)
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58.

Given below are two statements
Assertion (A) and Reason (R). Indicate
your answer using the code given
below :

Assertion (A) :

A neuron can generate action potentials
with a maximum of 1000 frequencies per
second under optimal conditions

Reason (R) :

Action potential follows all - or- none law
in respect of its strength

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of (A).

(B) Both (A) and (R) are incorrect.

(C) Both (A) and (R) are correct and
(R) is not the correct explanation
of (A).

(D) (A) is correct but (R) is not.

58.

AR (A) T HRUT (R) < FeA I
# 1 Fe 2 & S @ wE W e

AUEHYT (A) :

FE A Ahaan aRfeufal § siferan
1000 gt wfa Jhes * @y e g
&Yl T ST Y Tl B |

&I (R) :

arfafspan ermar ST0t WA % STTHR Weh
G- 31T~ e ST i STTH H
gl

%<

(A) (A) T (R) 1 94 € 3IX (R), (A) i
T S ® |

(B) (A) N (R) I Wl T |

(C) (A)ae (R) I wEl ¥ &R (R), (A) T
e e T g

(D) (A) T& ¢ W (R) T |
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59.

Match List-I and List-II and indicate
your answer with the help of the codes

given below :

List-1 List-II
(Disorders) (Main symptoms)
(a) Night terrors (i) Difficulty in
getting to sleep

(b) Nightmares (ii) Frightening
experiences

(iii) Dreams with

() Narcolepsy
negative emotions

(iv) Sudden attacks of
drowsiness

(d) Insomania

Codes :

@ ®) (@ (@

@ ()

® @)

(@) (i)

(v) @

. G-I R gE-11 9 fremse &R A= fag g

e HI T § 3T I I TR
el -1

(faepfar) (wreTuT )

@) UFem® () = oM H wieE
(e @)

(b) ¥ (i) @ e
(R 7))

() Frrdm (iii) TRNIHR
(Fenieret)

(d) TTEEFRT (iv) e T eI

e

@ () (@ (9

(4)

(B)

(©)

(D)

(iv)

i)

@)

(i)

@

(i)

(iv)

(i)

(iv)

()

(iv)

SPACE FOR ROUGH WORK / T% @1d & o e
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60. Match List-I with List-II and select the -

correct answer using the codes given

below :
List-I List-I1

(a) Serotonin (i) Mimics the actionof a

neuro-transmitter

() GABA (ii) Involved in movement,
attention and learning

(c) Agonist (iii) Inhibitory
neuro-transmitter in the

brain
(d) Dopamine (iv) Regulation of Mood ‘
Codes :
@@ () (9 (d
(A) (v) (@) @ @)
(B) @) @@ @O )
© @ @@ @Gv) @

O O @ @) @)

60. Gei-1 i Geit-11 § fHamsy o) 1 $e &

W@ﬂ'ﬁ“ﬁl’(ﬁﬁﬁﬁ"{:
e lt-1 TH-11
(a) ot @) =0 e & o

%]

(b) TN (GABA) (ii) T, STEEM SR

o gftwfed g
(c) wifre (i) S H T U AR
(d) ST (iv) F:Teera =1 fraA
E TR

@ @® (@ (9
(4) @) @) @ @
(B) @) @ 6 @)
© @ @@ @) @

O) @& @ @ @)
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61.

62.

The stages of sleep are as follows : 61.

(a) Hypnogogic sleep
(b)  Sleep spindles

() QEM

(d) Slow-wave sleep

(e) Sleep cycles

Arrange them in a correct sequence :
A) @), b), © @ @

(B) (@), (b), (d), (c) (¢)

©  (®) (9, (e), (d), (a)

(D) (9), (b), (d), (e), (a)

The removal of the brain tissue for 62.

experimental purposes is known as :
(a) Removal

(b) Lesion

(c) Operation

(d) Extirpation

Which of the above are/is correct ?
(A) (a) only

(B) (b) and ()

(©) (d) only

(D) (a) and (d)

HIA 1w T FHR B E :
(a) fe=rmfiTs s

(b) T forse

() 3T (QEM)

(d) - T

(€) T <H

72 W s B afed HifT ;
(A) (@), (b), (), (), (e)
(B) (@), (b), (d), (c), (e)
©  ®), (©) (e) (d), (@)
(D) (), (b),(d), (e), (a)

YR 3299 o foTT 99 ek a1 BT ST

FEA S

(c) AreRer

(d) T H @
ST B i W e R ?
(A) F (a)

(B) (b) 3 (o)

(C) 4 (d)

(D) (a) ¥R (Q)
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63.

64.

What do characterize Rapid Eye  63.

Movement sleep'?

(a) Delta waves

(b) Loss of muscle tone

(c) Low voltage -high frequency waves
(d) Higher cerebral activity

Codes :

(A) (a), (b) and (c) only

(B) (a), (b) and (d) only
(©) (b), () and (d) only
(D) (), (b), (c) and (d)

Which of the following statement(s) are 64.

true ?

(@) The formation of an impression is
essentially an evaluation of a person

(b) Schemas that we have about people
speed up the process

(c) Schema leads to wrong inference
Codes :

(A) (@), (b) and ()

(B) (a) and (b) only

(C) (b) and (c) only

(D) (a) and (c) only

T 51 Tiieren W i ferdn 2

(a) SE T

(b) el TR & |
() Fre dreea- w1 smgf @l
(d) SR Hore Tfafafy
ETE

(A) % (a), (b) TR (©)
(B) ¥ (a), (b) 3R (d)
(C) % (b), (o) ¥ (d)
(D) (@), (), (© ¥ (d)

e S W T §?

@) o1 fmn sfEra: =t #
e B & |

(b) i % g g whe e | asft
AR

(c) il Y TIer TeH ferd B

(A) (a), (b) 3T (c)
(B) % (a) 3R (b)
(C) e (b) 3R (o)
(D) 9 (a) 3 (c)
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65.

66.

Which of the following statements are

correct ?

(@) Group polarization process studies
pro-social behaviour

(b) People in groups work with
commitment if the task is
challenging

Codes :

(A) Only (a)

(B) Only (b)

(C) Both (a) and (b)
(D) Neither (a) nor (b)

Assertion (A) :

An individual is most likely to oppose
what he/she is commanded to do.

Reason (R) :

People who are frustrated are poor at
conformity.

Codes :

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true and (R) is
not the reason of (A)

(C) (A) true, (R) false

(D) (A) false, (R) true

65.

66.

AT s ad 82

(a) THE yearwo gfwan gurs wnfhc
SEER 1 ST I |

(b) il 1 EE A HE A ol @ |d
RN 1 g QU1 999Ul o WY R
I R

%

(A) a (a)

(B) hae (b)

©) (a) R (b) S
(D) (@) (b)

arfuener (A) :

fe fndl =afa = =1 9 gefua oew fea
S g1 A T8 U 39 faly R ©)

HRT (R) :

3T TEd TNT STTRea Ued B © |

C TR

(A) (A) T (R) ST € © 31 (R), (A) &
HE FRO 2

(B) (A) @ (R) I ¥4 § 31X (R), (A) F
T HROT 7 R

©) (A) W&, (R) @ T
(D) (A) e, (R) §&t §1
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67. Of the following, Jean Piaget’s most
important contribution was :

(A)

(B)

©

to demonstrate that children of
different ages understand the world
in ways that are often very
different from the way adults

understand it.

his in-depth study of the smooth
cognitive transitions from birth to
adulthood

his numerous demonstrations of the
ways in which childhood cognition
parallels adult cognition

to show the similarities between the
ways that children and adults
understand the world

67.

o o ST Tt o1 waitfires we<eryel e

Iqr

(A)

(B)

(D)

7g <o | o fafy= oy ot & 5=,
S Tt STY&T FHR Sl T: 37T S
Q mEd ¥ |

IR S A IIEhAl 9% AMYRfed
A GHHY] Rl T8N eI fhar |

IR F3 dle! w1 < foaw
TS T TI%h G & GHFR
ERGIES

TR I Rl F T FHETAS] Dl
Toiter e o= 371 S GER & 9He
g
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68.

69.

What did Harry and Margaret Harlow’s
research with rhesus monkeys show?

(A) Early social deprivation can be
overcome if a child receives
sufficient remedial support.

(B) Baby monkeys who experienced
social deprivation during the first six
months of their lives experienced
irreversible damage in their social

relations.

(C) Baby monkeys who experienced
social deprivation during the first six
months of their lives exhibited
greater resilience than human

babies in similar situations.

(D) Human babies, like baby monkeys,
will exhibit irreversible damage in
their social relations if they
experience social deprivation early

in their lives.

A boy who is experiencing normal
development, believes that the moon is
following him when he rides in the car
with his parents at night. He also has
imaginary friends who seem quite real to
him. The boy is in which stage of
development ?

(A) Sensorimotor

(B)

(C) Concrete operational

Preoperational

(D) Formal operational

68.

69.

TRt st W § IR Orie wreita 1 STEe
1 gt © 2

(A) afE FE aeh T URieTS T9ed
I R A a8 & HHESE S99 T
T U1 el § |

T St Ry o1 Seawie % W
B: T % N T | afed @ W
A Free Hedl ® STaRada
THa fean)

(B)

T Oy 9 o1 S &1 & 9em
B: Tl ¥ SN 3T w9 9 dfaa
@ ¥, gwey uifefa § are g %
aen 3fyes ey 1 eI e

(©)

Sre et o qd <R H ISR e
% HR0 AFE By, SR g wt @&
AW g el § srufadta
THEM HAMI

T 1T Forge! UM faera S @I e, amean
% fo Ufs o =g Sqa die1 #ar & 5@ 9%
3T Wa-Tar % Y R a R W@ e
¥ SHF FB wEAHE o o § Y a®
SrEfaeRal 1 ®9 A1 &1 ST fast® %
g st | ®2

(A) TaEl TeATcH STere

(B) Y wifsranfier sraed

(C) wifshe wifsraaes stawen
(D) fTrmiTs wifswamas e
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70.

71,

Which type of learning is best defined as
“the form of learning in which the
consequences of behaviour lead to
changes in the probability of its

occurence” ?

(A) Classical conditioning

(B) Operant conditioning

(C) Observational learning

(D) Insight learning

According to Carl Rogers, a congruent

counsellor is one :

(A) Whose actions are not at odds with
his or her feelings and thoughts

(B) Whose expressions reflects what the
client is presenting

(C) Whose choices of techniques and
interventions remains constant
throughout the
relationship

counselling

(D) Who gets a client to do what the
counsellor thinks he or she should
be doing

70.

71.

Yot & YR fSad sEEr w6 9ior
% Ieard o) Huyrear § aRadA e g’
STTET AT T ST= IR i T
??

et Ui o STTER T HITH T o
T

(A) Tomet gfafrand, sweR/3as! e
3R foaml @ 71 THTar e

(B) Torent sifvreafeal s % W& o
wafsifera st &

(C) forat qorier o T@aY w1 =4
et % SR feeR T E

(D) T UHI FAE< 16 & S S8k W
T STTHTT |
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72. Which of the following is not true with
regard to the three component attitude
‘model ?

(A) The model emphasised that
attitudes are limited to socially

significant events or objects

(B) The model was particularly popular
in the 1960’s

C) According to this model attitudes
&
persist across time and situations

(D) This model is associated with
Thurstone who proposed a holistic

approach

72. fawita sifvefa et & fawa & fr & o
M ET T e ?

(A) 3Tex S wEa € fF sfvgfa T %
TETEqUl SIS YAl Sevdl aeh Wi
WA

(B) 1960 % T H TIRT Tordrant Tleh o
a1

¥ STH-9 & & S

(D) 3T ® Ty o= ¥ § e @
Ul gfteeior =i e fea |
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- 73.

Read the following Two statements
Assertion (A) and Reason (R). Indicate
your answer using the codes given
below :

. Assertion (A) :

A person suffering from mania might feel
elated and on the top of the world

Reason (R) :

| Psychopathology always cause personal
-anguish

Codes :

(A) Both (A) and (R) are true and (R)
~ is the correct explanation of (A).

(B) Both (A) and (R) are true and (R)
is not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

73.

frefafaa i el %1 AR (A) T2
HWOT (R) F ¥ A ufew aan =1 %2 9
I Y 3T IW hI SIS HIT

PRI (A) :

IR B fifen FE SR T AT B T
TR e g Y R TR R §

IRUT (R) :

TRISRITR e Jafae e a1 8|

(A) (A) TN (R) T T § SR (R), (A) F
& S R

(B) (A) T (R) I w4 T 3R (R), (A
1 T SR e

(C) (A) ¥4 ¥, W (R) Ted B

(D) (A) 7ol §, T (R) 94 2 |
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Match the following : 74. T = faam ST

List-1 List-I1 -1 geE-11
(a) Psychotic (i) Loss contact (a) RIS TR (i) FRAfasal § W
Disorder with reality B
(b) Mood disorder (i) Emotional (b) w:feafa fodR (i) WTEAERR SEl
disturbances
(c) Post traumatic (i) Mania (c) Wi TE q (i) A
stress disorder : 3G fasR
(d) Substance (iv) Disturbance (d) Tefrett gared | (iv) g1 8 q
related disorder related to Hafya faer e JI%WI'(
Drug abuse
% :
Codes :

@ (b)) (o (d
@ ) (@ (@

(A) @ @) @ Gw)
(A) @ @) @ @)

® @ O @ @
(B) (@) @O Gv) (@)

© @ @) @O @)
© G (v) @ ()

(D) (v) @) (@) (@
(D) (v) @) (@) @
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75.

Are antisocial personality disorder and
criminality biological or environmentally
determined :

(@) The way someone is raised,
determines criminal behaviour

(b) Environment has little to do

(c) People choose to commit crime and
became antisocial

(d) Biological vulnerability and
environment influence criminal
behaviour

Select the correct answer using :
(A) Only (a)

(B) (a) and (o)

(€©) Only (d)

(D) (a) and (b)

~-0Qo0-

75.

1 gH foriedt =afaea AR oiR o1
Fe SN Bl ¢ 1IN 39 AT & A
qfifeefeat fmior st €

(a) S AfH o8 YR | Irert 9en &
IH YR A 7RI SEeR &1
AR

(b) ufka wi fiept T A B

(c) TST T Y ¥ R STarifo
9 R

(d) Siferes Haeeieran iR ufiEw, sTa
SIGER I 319 T H & ol ¥

T SW HT TI7 FC
(A) Fa (a)

® @ M)

(C) Fae ()

(D) (a) 3R (b)

-00o0-
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VS §
S S R e | { sifere 3 £

Time for marking answers : 2 Hour 30 Minutes J Maximum Marlgs 1

e
1. 79 yeA-gien # 75 79 ¥ - 9o A 2 3% H R mﬁmwmaﬁmﬁ%f\

2. TE ¥ IW & T OMR SH-Ie (TR-32) W ifera o)

3. SRUTCHE oA gl fohar Sier |
4. freh ot o8  HOFOR A N Tt TE HaEe ®F w1y aftd ¥

5. OMR IR-YN (STHR-3M2) i FaNT HQ Tog Vet g ST 7 /G Fod 78 e <
i g 71 faerae SNt o5 S e weasy 9 e 8 S |

Note :

1.  This Question Booklet contains 75 questions. Each question carries 2 marks. Answer
questions.

2.  Indicate your answers on the OMR Answer-Sheet provided.

3.  No negative marking will be done.

4.  Use of any fype of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-sheet care should be taken so that the Answer-sheet does not
torn or spoiled due to folds and wrinkles.
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